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ECONOMICS
Maximum : 80 Scores
r// General Instructions to Candidaztes : ' \
® There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 1 hirs.
¢ You are not allowed to write your answers nor to discuss anviliing with others
during the ‘cool-off time”,
®  Use the ‘cool-off time’ 1o get familiar with questions and to plan your answers,
® Read questions carefully before answering,
¢ All questions are compulsory and enly internal cheice is aliowed. ‘
®  When you select a question, all the sub-questions must be answered from the same
question itself,
® (Calculations, figures and graphs should be shown in the answer sheet itself.
® Malavalam version of the questions is also provided.
® Give equations wherever necessary, _
¢ Flectronic devices except non-programmable calcuiators are not allowed in the
Examination Hall.
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1. If'the demand curve'is a rectangular hyperbola, ¢1astiéity is

(a) Zero

(b One

(c}) Lessthan one
(d) Infinity

(Score :

2. Define GDP Deflator. During 2013 the nominal value of GDP in India was T 7000/-
- crores. During the same year the GDZ of the country evaluated at price of some base

year was ¥ 6000/- crores. Find the value of GDP deflator of the year in percentage

terms.

3, Match the columns ‘B’ and *‘C’ with ‘A .

(Scores :

A

B

C

econoiny

{1} Concave to the origin Centrally planned

Monetary flow of income

{2) Organisation of Econonuc! Micro Economics

External sector

economy

activities !
{3} Circular flow of incomen_g—lncreasing dpporturiit; Market economy
| cost
(4) Major sectors in an | Real flow of income fiacro Economics

(5) Branches of Economics | Government

Production possibility

| curve
{Scores :
4. Study the following table and answer the questions.
Income Consumption investment
Expenditure Expenditure
Y ' C I
06 10 10
16 15 10
20 20 10
30 ‘ _ 25 10
40 _ 30 10
30 35 10
60 4) 10
(a) Derive the aggregate demand schedule. _
(b)  Show graphically the components ot aggregate demand. o ... (Seores :
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CalBM QMo HORIMAIE Hoangjdemogwes aaiowileonamaicl @enasolno

nOmOa@lan)o ?

(a)
)]
(c)
(d)

Zero

One
Less than one
Infinity

(mies04d : 1)

GDP Deflator agyomosarnati aildqjallan)s. 2013-0206=103 DOMIQ@ISS GahUIRIHAITD
@ye meeodiajmme 7,000/~ eamosl ojumodleymy. @y audaueom @inodwin
OBOT @RYRYIDEVIMa e qudle alleidflsd @lgagsyamyemiocd 6,000/- emos]

®)al@osM. @RsmomOEIm @y  dauecm  GDP Deflator-o0

R@AIMISITLOIMAHIE SHENHNIDD) .

V=13
(e odms : 4)

Gdhogo ‘B’ mjo emdgo ‘CT oo @080 ‘AT 000w cweElalea)s.

Economic activities

A B C
(1) Concave to the origin Centrally  planned Monetary flow of income
economy
{2) Organisation of | Micro Economics External sector

Circular flow of income

Increasing
cost

opportunity

Market economy

Major sectors in an
£CONOMY

Real flow of income

Macre Economics

Branches of Economics

Government

Production possibility

curve

DORY DHIS)TN AN alSld al0ls] ¢210816B0346¢ DOMOADEm)H.

Income Consumption Investment
Expenditure Expenditure
Y C 1
0 10 10
10 15 10
20 20 i0
30 25 10
40 30 10
50 35 10
60 40 10

(a)
(b)
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Which of the following cost will be zero when production is stopped ?

(a)
(b)
(c)
(d)

Average Fixed Cost
Total Cost

Fixed Cost
Variable Cosﬁ

(Score : 1)

The following diagram represents TP, MP and AP curves of a firm. After s"udymg the

curves, answer the guestions given below.

(a)
{b)
(<)

S e T ——— — — . A Al e G O m meema mEeG i s

¥

When does ‘TP” becomes maximum 7

At what rate (increasing or decreasing) does ‘TP’ increase when “MP” increases 7

When does “MP’ become negative 7

{(Scores : 3)

From the list of goods given below, find out the one which cannot be provided

through market mechanism ?

(2)
(b)
(©)
@

Private goods
Public goods
Merit goods
Club goods

(Scoré : 1)



5. 2elxjosme MIBOmGMIUE ZEro @RYG)aM O2121Ql aF@mom) ?
() Average Fixed Cost (b) Total Cost

{c)} Tixed Cost (dy Variable Cost {(5Gdad : 1)

6. ooey ommldleayam alme 8y 2eigpsm @anigiead TP, MP, AP agml
QHEmHg qVaflaflenym). @D coaind vesinrewl adla] mose manlalesym
Gal0BLEMBUINE DA OODPID) s, ‘

e | ’
I i TP
|
! I |
o !
[y :
l.
' L i l >
S X
P!
Y ‘; { |
I
I
I
| i
| i
| I
i [IAN AP .
\ X
MP

(a) apdqjovesis ‘TP’ ailro aooraiwlloeramyansy ?
(b ‘MP’ axewe gomemod TP alidoe of@  codlRiem  gwe)@:ewo,
WOV} HEWT DalQana ? ' '

(©) afgpeoem ‘MP’ aide amnglana)ymas ? {aamada : 3)

7. QY H0S) OB 6T VLM B)OS efqylad mtnyo SHOTLOR
QIAIMNWGIRLHS £iB R0 TLOWIANODM DOWMO ARl 7
{a) Private goods (b} Public goods
{c) Merit goods (dy Club goods (rWesod @ 1)
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3.

Mr. Abhi wanis to consume two goods. The prices of two goods are ¥ 4 and ¥ 5

“respectively. If Abhi’s income is ¥ 20, answer the following questions :

. {a) Write down the equation of the budget line.

10.
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{b) How much of good-1 that Abhi can consunie if he spends his entire income on
good-17

(¢) How much of good-2 that Abhi can consume if he spends his entire income on
good-2 7 |

(d} What is the slope of the budget line ?

(¢) How does the budget line change if the consumer’s income increases from ¥ 20
to T 40 but prices remain unchanged 7

(t) . Show the change in budget line if the price of good-2 decreases by ¥ 1 but the

price of good-1 and consumer’s income remain unchanged. (Scores :

Who is known as the father of modern macro economics ?
{a) Adam Smith

(b)y - Alfred Marshall

(c) JM. Keynes

(dy JL1B. Say . . _ - {Score:

The following diagram shows the equilibrium price of wheat determined by the

supply curve ‘585” and market demand curve ‘DD'. With the help of the diagram
answer the questions giveh_ below,

Y 4

Price

[ Iy
Q  Quantity X

(a) If the Government imposes price ceiling on wheat, what happens to the demand

for wheat ?

{b} Define price cciling.

(c) Write down two adverse impacts of price ceiling on the consuimers,  (Scores :

6

8)

1}

6)
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(. meeldes emE TUIWMSBU QOEREMo. MUILMEER)s aflel VLN mre 4

ealWio 5 DiOB0dG:IaD) EREkMSS aeaomo 20 RalooasmElmd  alains

OG- YN B IAN M fmoe;mcﬁéﬁ STTIIORP) D) B,

{a)  s1Rd GORILINS FUYLMIIE)HAPITIE,

{b) meelows @M 2PAUB  BIMIZOTD  CLIWMo AWM UIEBIWD
2al16OUfla a8 af)l® TLOWMo AWIEEBIM mLIWea)e 7 |

(©) arelwas MEI2oMe 2PI0U08 CMEIANMD TLIWMe QIIEBIM BalCWIUTijons
AfL® AVOWMDo AIDBIM crvowlaaya ?

(d) srg coaiwms a1alal afyamosy ?

(e) @nleeoomonilna awizdme 20  owicd  dlame 40 ayaixowl]
aidavlem&®ye  owmamses aflel qudleasw)e MIMOGE suwd GO
ADEERHM QIYMLOTUH S0 ?

(H  smozsom qmowmamiand  afieiled ‘OJ(SG‘D:\O(TUD QUAIOT  BETRIDS TR
mowmemlang allel 80} Glal OOP;H®)e  DalERIGAIAIONG  UEIRIMO
qudlezowl  Migdao)d@le 9a0®mocd  sumg  eeRl  afsEEem

QUY®LITORQ S M)y 7 _ (veamadmd

M munjei LOTHETIG: WIN@OmIaT] allmoacimdlwagsimmod 7

1 8)

ia)  Adam Smith (b))  Alifred Marshall
ey J M. Keynes (dy J.B.Say - (Wemad : 1)
HGMIIE  CalIGMAe &EIWE (alBomale kaivlsy) swoemiled cuamals
allcigns all@o  aRAOs  €aldao)M).  AMOMISE  TanIWEBUINGS
BERdS;OMIGIONT GaldnymBUlaes DODINALIBN .
Y4 D
Price
P_
I
i
1 D
Q  Quantity X
{2} woledezd” swemald aeacof afien Mluuolajosd smoanied ¢alasm-
ot af)owt iy édfﬂ)o woosailaman) ?
(B aleseuudl ailet afeneaoat ©ldgeNase.
(c)  aesoadl ol @@l ol 2aCEIAMISRWBANEBIMHION OFE GEONH-
oNDITFRIE aHPIMEoo ? ,  (nSednadmy : 6)
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A froits seller sells 600 kg of grapes at market price of T 40 per kg. When price

5 -

increases to ¥ 50 per kg, he 15 veady to sell 730 kg of grapes. Find out the price

elasticity of supply. (Scores: 1)

If all the people of the economy increases the proportion of income they save, the

aggregate savings in the economy will not increase. This phenomenon is known as
{a} Paradox of prosperity

(b) Paradox of thrift

(¢} Leontief paradox

(dy Gitten paradox (Score : 1)

A firm that maximizes profit under perfect compeution will not produce an output
where {a) P > MC and (b) P < M. If so, what is profit maximizing output condition

m the short run 7 Briefly llustrate with diagram. {Scores : 3)

'hich is e characteristic of indifference curve !
Which is not the characteristic of 1
{a) Indifference curves are convex to the origin.
(by Indifference curves are negatively slopped.
s I B " M . RS PR
{c}y Indifference curves intersect cachother.

(dy A higher indifference corve represents g higher level of satistaction. (Score ;1)

The most important role of’ RBI is credit creation and control of mor su .
Tt t important role ol RB dit ereation and irol of money suppl

Explain the instruments which RBI uses for conducting ionitary policy. {Scores : 8)



11, 80 al?a0ajrisansem &0) slepndad 40 ojat mleesled 600 slecio ool
ollmdoeyam. myomcliayes aller 40 eaiaioeld almie 30 miwicalos oidarsjons
Majaisencem 750 alecs mamld) afimdaniad quoulloae. ofmmom moiciones

lisomamlaad oflel &e0aUalo® &Hamanoas)d:. (mSeemadmd : 2)

12, @@y cvnud ayaicundloel ROMBESL00  @ALL1OS  GUMId3Le  0idaulaflajocd
mmud  ayannolesl a0oomo avmionye wERHANMIg. B (aldNEITVUHOm
@O |S}ME)

{a) Paradox of prosperity
(k) Paradox of thritt
(¢} Leontief paradox

(d) - Gitfen paradox (mieaad : 1)

13, pps@onde! gelaosms osomm afday acSmoe semnios ajaicuoaiee ao)
ociajosm eyl @oey  aooym  esd  comdemrglene 9elapemo

mdgaslsny e,
{a) P>MC
(b1 P-MC

BREBHIMHVEHIE  ofd  Tvedsomicnwidlany (aodueocsigails  gelyjsam
wenlg 2e:merdw] grlhneme MSEHIDHMAT AlBENHG TVatIBEEDIS]

e8] QILSTHAIDF . {alesday : 5)

14, ances  eods)ooidlesymandiod  inditference  curve-em OBl URaHm
FREDOHEHO)
(a) Indifference curves are convex to the origin.
(b) Indifference curves are negatively slopped.
(¢} Indifference curves intersect each other.

(d) A higher indifference curve represents a higher level of satisfaction.  (aVeaad : 1}

15, olrvdy]  ewomladg lewom  wéme  apdaid cuiadloncile aodald
miowsisaeypoa.  dlevdg]  moE memeomeico  aadgemglannsqomy
mdgaoleoymeom) allwezodsda. (micaodad @ B)
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Wilich of the foilowing is a transfer payment 7
{3} Rent
(b) Wages
{c} Interest
{(d) Old age pension = . (Score : .l)
In an economy, investment increases by 500 crores. If MPC is 0.5, what is tile
increase in total income ? o (Scores : 2
Monopolistic competition consists of ;
{a) A fow firms selling identical products.
{b) A few firms seiling differentiated products.
{c} Large number of firms seiling identical products,
{d) Large number of finms ..seﬂing differentiated products. | (Seere: 1)
Suppose the following components of Government budget in India during 2013-14 18
given :
B - Components | Z in crores ]

(1Y Revenue Receipts - 13,0600 ‘1

(23 Capital Receipts | 6,000
| {3} Plan Expenditure F 5,000 E
| {4} MNon-plan Expenditure 24,000 I’
L(5) Interest Payments 7,500 l

i
(aj How much is the Fiscal deficit 7
(by  Find out the primary deficit. (Scores : 4)
11



16.

MY HXOS)IHIAEM MG BogERSAl af®oeM) 7

(@)

18.

(b}
{c)
(d)

Rent
Wages
Interest

Old age pension

(rScamad : 1)

8e) cumud  ajorundloel @lessnio 500 o081 @aiwow]  adeuiesman.

aul@oermocigconaginicaives

DROO U BOMAGlensNRIS D AdrDMAT ag.® 7

IO S T TGS oulnq|sem@) :

{(MPC) 0.5 amaspsslod  quoud  ayoinaooicl
{nSeamoadod : 2)

(8)  @02] 9EIn3M ©PEMIN®HUD RHOGRD: HEInJINEMWE afladsn)an)

(b)

&)0a] pelajosh @ig@:ud alleesm pelgjonanad almden)om)

(Ch eMao 28lajosm eI afd:otne: pelajonaEsUd alitden)m)

el

MeMde @elgjorm Wemigm@d nlleesm oeiymmanyd alldeaiam)

(Samad : 1)

mwmye oaadeaglecd 2013-14  cvomuowie adosomiael micisgleei aiel

aflniesmzdd aquomigjle:aowl BERENG Gl E N

Components T In crores
(1} oam); ae)aomo 10,000
(2)  mewss ae)a0me : 6,0’(}0
{(3)  aEnoh) suein] l 5,000
(4) cRLolomo & aleial ! 20.000
3y aefin E 7,500
{a)  wmaE] men) ;eeailslenis

(k)

LODASs @&l apU@®opas) ?

il

{mieaadad : 4)
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20. The point on the supply curve at whiph a firm earns normal profit is called
{a} Normal profit
(b} Super normai profit
(c) Break-even point

{(d) Shut-down point (Score : 1)

21. Detine value added method. A farmer produces 5 quintals of wheat, out of which he
sells 3 quintals to a flour mill and 1.5 quinfals to consumers at the rate of ? 1000/- per
quintal. He retains the balance of 0.5 quintais for self-consuﬁlption. For wheat
cultivation -he spends T 2000/- on account of purchasing seeds and fertilizers.

Calculate value added by the farmer. _ (Scores : 4)

22. Which of the following describes monopoly ?
(a) Large number of buyers.
(b) Large number of seliers
(¢} Only a single buyer

(d) Only a single seller with complete control over industry (Score : 1)

3. Two National Income identities are shown below :
i) Y=C+I1+G
(i) Y=C+[+G+X-M
{(a) Pick out the National Income identity for an open economy,

(b} Ifmarginal propensity to consume (C) = 0.5 and marginal propensity to import
{M) = 0.3, prove that the open economy multiplicr is smalier than that of the

closed economy. .. (Scores : 3)

7026 12



20, (amom oyoowicd  @eiaposm @pmld dmense emspm  eanlddlom  afom)

GaidlRIokee Sl ?

(a) Normal profit

{b)  Super normal profit
(c) Break-even point

(d) Shut-down point (Mmieshad : 1)

21, eygleqjdom meiye apmoseiast ?

B0) . HBau®HB aacome S w@iladed ewsml ge‘igoe’l@%&;mg, aa) ailadeiln)
1,000 opni mlassiad 3 adiojel dlel gsadiene 1.5 'ﬁsﬂﬂg%ﬁ DaIGRICTIBNBAN)0
aflmdanan). suoest amyam 4.5 &dga aqummoe gme«aomr@r&i‘laﬁ’ aflmlewsulan)any.
enommi dhyntflias. GrgaiteyEow oflewime AgamIme eangl @:Bauaad 2,000

@)l B)SHNTwOTh MRCGaCTWONG )Fiealdam mels Gemejnilsian)s. (riesadad : 4)

22, @99% alo@maidied @)ome&ew T)aflaflesimal agal ‘?
(a) wWwIRds:s GGHMIBaUE
(b) woAIge a6 Ud
(c‘), 30] GLHMOAl Ao

(d) &y ofle@mooal 2elajosmoe 2)Ryum mlemmlen;m;) (nie0d : 1)

23. @enz) AllwoIENSa 661 UBIZIM fd:IOHNG:E (UBELI1HN)d
@) Y=C+I+G
(i) Y=C+I+G+X-M
(@) ®m quaud oUIMLSERS GRRIY AUGBIM aRGITAHE aFOM 7

(b) avlaosmpoalsgovogilcaes (C) .5-80 avimom snossmochudicicains (M)
0.3-moeemaxtad oomm qomud aymrueoles auiglyied @RSy aqumid

- uyiun)es 3uglhleolemaadd alomucemal nmglolon)s. (Neeodav : 3)
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Following information about a firm is given below :

Units of output | Total cost
'y
0 45
1 75
2 160
3 129

From the given information, estimate

~ (a) Total Fixed Cost (TFC)

25.

26.
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(b) Total Variable Cost (TV()
{c}y Average Cost (AC)

(d) Marginal Cost (MC) - (Scores ;

The econumic principle of exchange rate determination are different in different
systems: Write in one or two sentences how the exchange rate is determined under :
(a) Flexible exchange rate system.

(b) Fixed exchange rate system.

(¢) Managed floating exchange rate system. {Scores

Under Qiigopoly the output decision ¢f any one fimm necessarily affect the price and

guantity sold by other firms. Hence the rivals may react to protect the profit. List the

three different ways in which oligopoly firms may behave. {Scores :

14

4)

1 4)

3)
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Units of output | Total cost
' C4)
0 . 45
1 s
2 100
3 120

;anlges Aloeasglal Mion)e N alN@IMA KNz} ailslon)d.

- {a) méa@m ourle eaaial (TFC)

26.
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(b}  emom anakecm saeal (TVC)
(¢} Wl aacia (AC)

(d)  aulesom aaieinl (MC) ' ' (Miedaday

almlaw  olegs  dldgroles)m@laqd m@ue  alel  GlyucuNGEIRe T alfl
Plalaglena).  @oe®  aloe)an  ajoimndgi®  ofememeom’  alluize
oeo)eud MldaRailenamemm B6MI GEERY ANIGOMIGE ag)#)m)d.
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